



## **Procurement Department**



## Supplier offer details

Supplier name: Agronectar Group

Tender no: TNDRE/001/2021

Offer no: OS00486/001/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	420.00	10,500.00	koria	Afghanistan	
2	Fogging machine	UNT	2,000.00	2,000.00	900.00	1,800,000.00	koria	South Korea	
3	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	300.00	300,000.00	koria	South Korea	
4	Ultra Low Volume Pump	PCS	25.00	25.00	1,800,000.00	45,000,000.00	koria	South Korea	

**Offer total value** 47,110,500.00

Offer deposit fee (2% of Total Value in SDG)

942,210.00

Offer total No. of Items Offered

Consolidated value

47,110,500.00

Consolidated Deposit Fee (2% of Total Value in SDG)

942,210.00

Consolidated Total No. of Items

Disolidated Total No. of Items

4

Peint date 8/2/2021 Peint time 12:02:02PM Page 1 of 12

Supplier name: Algam drugs & chemicals Comp.

Tender no: TNDRE/001/2021

Offer no: OS00221/005/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	28,735,200.00	488,498,400.00	Toyota	Japan	
2	Basic Life Support Ambulance	UNT	41.00	41.00	22,604,400.00	926,780,400.00	Toyota	Japan	

Offer total value

1,415,278,800.00

Offer deposit fee (2% of Total Value in SDG)

28,305,576.00

Offer total No. of Items Offered

2

2

4

Offer no: OS00221/006/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
3	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	37,780,881.00	642,274,977.00	Naffco FZE	United Arab E	
4	Basic Life Support Ambulance	UNT	41.00	41.00	24,754,059.00	1,014,916,419.00	Naffco FZE	United Arab E	

Offer total value

1,657,191,396.00

Offer deposit fee (2% of Total Value in SDG)

33,143,827.92

Offer total No. of Items Offered

Consolidated value

3,072,470,196.00

Consolidated Deposit Fee (2% of Total Value in SDG)

61,449,403.92

Consolidated Total No. of Items

Peint time 12:02:02PM Page 2 of 12 Peint date 8/2/2021

Supplier name: DAL Motor Company Limited

Tender no: TNDRE/001/2021

Offer no: OS00481/001/2021

Offer Status: Confirmed & Sent

Srl	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	Single Cab Pick-Ups	UNT	23.00	23.00	22,341,600.00	513,856,800.00	MITSUBISHI	Japan	
2	Double Cabs Pick-Ups	UNT	2.00	2.00	22,444,000.00	44,888,000.00	MITSUBISHI	Japan	

Offer total value 558,744,800.00 Offer deposit fee (2% of Total Value in SDG) 11,174,896.00 Offer total No. of Items Offered 2

Consolidated value 558,744,800.00 Consolidated Deposit Fee (2% of Total Value in SDG) 11,174,896.00 Consolidated Total No. of Items 2

Peint date 8/2/2021 Peint time 12:02:02PM Page 3 of 12

Supplier name: GADDRES TRADE CO.LTD Tender no: TNDRE/001/2021

Offer no: OS00277/002/2021 Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Fogging machine	UNT	2,000.00	2,000.00	825,000.00	1,650,000,000.00	Swingtec GmbH	Germany	
2	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	120,000.00	120,000,000.00	Swingtec GmbH	Germany	
3	Ultra Low Volume Pump	PCS	25.00	25.00	5,995,000.00	149,875,000.00	Swingtec GmbH	Germany	
4	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	465,000.00	11,625,000.00	Swingtec GmbH	Germany	

Offer total value 1,931,500,000.00 Offer deposit fee (2% of Total Value in SDG) 38,630,000.00 Offer total No. of Items Offered 4

Consolidated value 1,931,500,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 38,630,000.00 Consolidated Total No. of Items 4

Peint date 8/2/2021 Peint time 12:02:02PM Page 4 of 12

Supplier name: Golden Arrow Company Tender no: TNDRE/001/2021

Offer no: OS00482/001/2021 Offer Status: Confirmed & Sent

Sı	rl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
	1	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	37,100,000.00	630,700,000.00	Toyota fot the v	Japan	
	2	Basic Life Support Ambulance	UNT	41.00	41.00	50,500,000.00	2,070,500,000.00	Toyota for the v	Japan	
	3	Single Cab Pick-Ups	UNT	23.00	23.00	25,600,000.00	588,800,000.00	Toyota	Japan	
	4	Double Cabs Pick-Ups	UNT	2.00	2.00	33,700,000.00	67,400,000.00	Toyota	Japan	

Offer total value 3,357,400,000.00 Offer deposit fee (2% of Total Value in SDG) 67,148,000.00 Offer total No. of Items Offered 4

Consolidated value 3,357,400,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 67,148,000.00 Consolidated Total No. of Items 4

Peint date 8/2/2021 Peint time 12:02:02PM Page 5 of 12

Supplier name: Golden eagle medical company Tender no: TNDRE/001/2021

Offer no: OS00240/002/2021 Offer Status: DRAFT

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Magnetic Resonance Imaging (MRI) 1.5T	UNT	1.00	1.00	560,000,000.00	560,000,000.00	Canon Medical Sy	Japan	

Offer total value 560,000,000.00 Offer deposit fee (2% of Total Value in SDG) 11,200,000.00 Offer total No. of Items Offered

Consolidated value 560,000,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 11,200,000.00 Consolidated Total No. of Items 1

Peint date 8/2/2021 Peint time 12:02:02PM Page 6 of 12

Supplier name: IBTOS TRADING ENTERPRISE

Tender no: TNDRE/001/2021

Offer no: OS00235/001/2021

Offer Status: Confirmed & Sent

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	27,250,000.00	463,250,000.00	Vehicle Toyota	Japan	
2	Basic Life Support Ambulance	UNT	41.00	41.00	20,750,000.00	850,750,000.00	Vehicle Toyota	Japan	

Offer total value 1,314,000,000.00 Offer deposit fee (2% of Total Value in SDG) 26,280,000.00 Offer total No. of Items Offered 2

Consolidated value 1,314,000,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 26,280,000.00 Consolidated Total No. of Items 2

Peint date 8/2/2021 Peint time 12:02:02PM Page 7 of 12

Supplier name: Nasif Medical Investment and Co

Tender no: TNDRE/001/2021

Offer no: OS00093/003/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	55,225,000.00	938,825,000.00	Paramed	Japan	
2	Basic Life Support Ambulance	UNT	41.00	41.00	39,480,000.00	1,618,680,000.00	Paramed	Japan	

Offer total value

2,557,505,000.00

Offer deposit fee (2% of Total Value in SDG)

51,150,100.00

Offer total No. of Items Offered

2

Offer no: OS00093/004/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
3	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	42,400,000.00	720,800,000.00	Paramed*	Japan	
4	Basic Life Support Ambulance	UNT	41.00	41.00	30,500,000.00	1,250,500,000.00	Paramed*	Japan	

Offer total value

1,971,300,000.00

Offer deposit fee (2% of Total Value in SDG)

39,426,000.00

Offer total No. of Items Offered

Consolidated value

4,528,805,000.00

Consolidated Deposit Fee (2% of Total Value in SDG)

90,576,100.00

Consolidated Total No. of Items

Peint time 12:02:02PM Page 8 of 12 Peint date 8/2/2021

Supplier name: Noor for Health and Environmen

Tender no: TNDRE/001/2021

Offer no: OS00479/002/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Fogging machine	UNT	2,000.00	2,000.00	599,000.00	1,198,000,000.00	IGEBA	Germany	
2	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	140,000.00	140,000,000.00	IGEBA	Germany	
3	Ultra Low Volume Pump	PCS	25.00	25.00	5,500,000.00	137,500,000.00	CLARKE	United States	
4	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	350,000.00	8,750,000.00	CLARKE	United States	

Offer total value

1,484,250,000.00

Offer deposit fee (2% of Total Value in SDG)

29,685,000.00

Offer total No. of Items Offered

Offer no: OS00479/003/2021

Offer Status: Confirmed & Sent

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
5	Fogging machine	UNT	2,000.00	2,000.00	530,000.00	1,060,000,000.00	PULSFOG	Germany	
6	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	150,000.00	150,000,000.00	PULSFOG	Germany	
7	Ultra Low Volume Pump	PCS	25.00	25.00	4,370,000.00	109,250,000.00	IGEBA	Germany	
8	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	444,000.00	11,100,000.00	IGEBA	Germany	

Offer total value

1,330,350,000.00

Offer deposit fee (2% of Total Value in SDG)

26,607,000.00

Offer total No. of Items Offered

8

2,814,600,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 56,292,000.00 Consolidated value Consolidated Total No. of Items

Peint time 12:02:02PM Page 9 of 12 Peint date 8/2/2021

Supplier name: RASD Pharma for Multi Activities

Tender no: TNDRE/001/2021

Offer no: OS00280/001/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	32,715,200.00	556,158,400.00	Autozone Armor &	Japan	
2	Basic Life Support Ambulance	UNT	41.00	41.00	25,412,700.00	1,041,920,700.00	Autozone Armor &	Japan	

Offer total value 1,598,079,100.00

Offer deposit fee (2% of Total Value in SDG)

31,961,582.00

Offer total No. of Items Offered

2

2

4

Offer no: OS00280/002/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
3	Advance Life Support Ambulance Wide Body & High Roof	UNT	17.00	17.00	34,137,727.00	580,341,359.00	EMSA AMBULANS VE	Japan	
4	Basic Life Support Ambulance	UNT	41.00	31.00	32,889,876.00	1,019,586,156.00	EMSA AMBULANS VE	Japan	

Offer total value

1,599,927,515.00

Offer deposit fee (2% of Total Value in SDG)

31,998,550.30

Offer total No. of Items Offered

Consolidated value

3,198,006,615.00

Consolidated Deposit Fee (2% of Total Value in SDG)

63,960,132.30

Consolidated Total No. of Items

Peint time 12:02:02PM Page 10 of 12 Peint date 8/2/2021

Supplier name: Rawmak for multi activities co .lt

Tender no: TNDRE/001/2021

Offer no: OS00421/001/2021

Offer Status: Confirmed & Sent

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Fogging machine	UNT	2,000.00	2,000.00	744,000.00	1,488,000,000.00	vector fog	South Korea	
2	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	0.00	0.00	vector fog	South Korea	
3	Ultra Low Volume Pump	PCS	25.00	25.00	0.00	0.00	vector fog	South Korea	
4	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	0.00	0.00	vector fog	South Korea	

Offer total value

1,488,000,000.00

Offer deposit fee (2% of Total Value in SDG)

29,760,000.00

Offer total No. of Items Offered

Offer no: OS00421/002/2021

Offer Status: Confirmed & Sent

Srl.	Item description	иом	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
5	Fogging machine	UNT	2,000.00	2,000.00	651,000.00	1,302,000,000.00	DRS Medikal Tekn	Turkey	
6	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	0.00	0.00	DRS Medikal Tekn	Turkey	
7	Ultra Low Volume Pump	PCS	25.00	25.00	0.00	0.00	DRS Medikal Tekn	Turkey	
8	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	0.00	0.00	DRS Medikal Tekn	Turkey	

Offer total value

1,302,000,000.00

Offer deposit fee (2% of Total Value in SDG)

26,040,000.00

Offer total No. of Items Offered

8

Consolidated value

2,790,000,000.00

Consolidated Deposit Fee (2% of Total Value in SDG)

55,800,000.00

Consolidated Total No. of Items

Peint time 12:02:02PM Page 11 of 12 Peint date 8/2/2021

Supplier name: Tanweer for Medical & Scientific

Tender no: TNDRE/001/2021

Offer no: OS00243/004/2021

Offer Status: Confirmed & Sent

Srl.	Item description	UOM	Needed Qty	Offered Qty	Offered price	Total amount	Manufacturer	Country of origin	Remarks
1	Fogging machine	UNT	2,000.00	2,000.00	672,000.00	1,344,000,000.00	Longray	China	
2	Spare Parts fogging Machine	UNT	1,000.00	1,000.00	2,016.00	2,016,000.00	Longray	China	
3	Ultra Low Volume Pump	PCS	25.00	25.00	6,234,000.00	155,850,000.00	Longray	China	
4	Spare Parts of Ultra Low Volume Pump	UNT	25.00	25.00	14,880.00	372,000.00	Longray	China	

Offer total value 1,502,238,000.00 Offer deposit fee (2% of Total Value in SDG) 30,044,760.00 Offer total No. of Items Offered 4

Consolidated value 1,502,238,000.00 Consolidated Deposit Fee (2% of Total Value in SDG) 30,044,760.00 Consolidated Total No. of Items 4

Peint date 8/2/2021 Peint time 12:02:02PM Page 12 of 12